



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (International Relations) 3rd Semester, Morning, Session Autumn 2025

Registration #	Name	ECO 330					GEN-118					GEN124					GEN-124					INR 509					INR 521				
		Economics					Introduction to Psychology					Quantitative Reasoning II (Statistics)					Civics and Community Engagement					Foreign Policy Analysis					Introduction to International Security				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S (IR) Aut-2024-M-0002	Ahmed Ali	34	F	-	3	-	-	-	-	-	62	C	2.0	3	6.0	-	-	-	-	-	65	C+	2.5	3	7.5	50	D	1.5	3	4.5	
B.S (IR) Aut-2024-M-0003	Aiman Khan	50	D	1.5	3	4.5	-	-	-	-	59	C	2.0	3	6.0	-	-	-	-	-	80	A	4.0	3	12.0	22	F	-	3	-	
B.S (IR) Aut-2024-M-0004	Aimen Jamal	84	A	4.0	3	12.0	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-	-	83	A	4.0	3	12.0	88	A	4.0	3	12.0	
B.S (IR) Aut-2024-M-0005	Alina Wasit	30	F	-	3	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	75	B+	3.5	3	10.5	23	F	-	3	-	
B.S (IR) Aut-2024-M-0006	Anam Zahid	21	F	-	3	-	-	-	-	-	85	A	4.0	3	12.0	70	B	3.0	2	6.0	76	B+	3.5	3	10.5	70	B	3.0	3	9.0	
B.S (IR) Aut-2024-M-0008	Aqsa Gulfranz (Withheld due to Fee)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (IR) Aut-2024-M-0009	Areesha Zahoor	27	F	-	3	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	60	C	2.0	3	6.0	84	A	4.0	3	12.0	
B.S (IR) Aut-2024-M-0010	Arooba Abbasi	33	F	-	3	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	57	C	2.0	3	6.0	57	C	2.0	3	6.0	
B.S (IR) Aut-2024-M-0011	Asma Noor	56	C	2.0	3	6.0	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-	-	72	B	3.0	3	9.0	38	F	-	3	-	
B.S (IR) Aut-2024-M-0014	Ayesha Riaz	82	A	4.0	3	12.0	-	-	-	-	83	A	4.0	3	12.0	-	-	-	-	-	75	B+	3.5	3	10.5	80	A	4.0	3	12.0	
B.S (IR) Aut-2024-M-0015	Dua Shafqat	50	D	1.5	3	4.5	-	-	-	-	58	C	2.0	3	6.0	-	-	-	-	-	73	B	3.0	3	9.0	43	F	-	3	-	
B.S (IR) Aut-2024-M-0016	Eman Tabraiz (Withheld due to Fee)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S (IR) Aut-2024-M-0017	Eman Zafar	38	F	-	3	-	-	-	-	-	88	A	4.0	3	12.0	-	-	-	-	-	75	B+	3.5	3	10.5	50	D	1.5	3	4.5	
B.S (IR) Aut-2024-M-0019	Faisal Iqbal	55	C	2.0	3	6.0	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	72	B	3.0	3	9.0	70	B	3.0	3	9.0	
B.S (IR) Aut-2024-M-0020	Faisal Luqman	55	C	2.0	3	6.0	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	61	C	2.0	3	6.0	30	F	-	3	-	
B.S (IR) Aut-2024-M-0021	Farooq Khan	84	A	4.0	3	12.0	-	-	-	-	90	A	4.0	3	12.0	-	-	-	-	-	82	A	4.0	3	12.0	60	C	2.0	3	6.0	
B.S (IR) Aut-2024-M-0022	Fiza Mehak	80	A	4.0	3	12.0	-	-	-	-	99	A	4.0	3	12.0	-	-	-	-	-	80	A	4.0	3	12.0	82	A	4.0	3	12.0	
B.S (IR) Aut-2024-M-0023	Hasnain Zahid	89	A	4.0	3	12.0	-	-	-	-	89	A	4.0	3	12.0	-	-	-	-	-	80	A	4.0	3	12.0	93	A	4.0	3	12.0	
B.S (IR) Aut-2024-M-0024	Isma Maqsood	56	C	2.0	3	6.0	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	72	B	3.0	3	9.0	70	B	3.0	3	9.0	
B.S (IR) Aut-2024-M-0025	Javeria Ahtasham	76	B+	3.5	3	10.5	-	-	-	-	93	A	4.0	3	12.0	-	-	-	-	-	76	B+	3.5	3	10.5	75	B+	3.5	3	10.5	
B.S (IR) Aut-2024-M-0026	Mahrukh Zahra	90	A	4.0	3	12.0	-	-	-	-	99	A	4.0	3	12.0	-	-	-	-	-	80	A	4.0	3	12.0	89	A	4.0	3	12.0	
B.S (IR) Aut-2024-M-0028	Malik Shahzaib Hussain	29	F	-	3	-	-	-	-	-	36	F	-	3	-	-	-	-	-	-	68	C+	2.5	3	7.5	31	F	-	3	-	
B.S (IR) Aut-2024-M-0029	Mamoona Tasneem	34	F	-	3	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	70	B	3.0	3	9.0	60	C	2.0	3	6.0	
B.S (IR) Aut-2024-M-0030	Mehrab Saeed (Withheld due to Fee)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S (IR) Aut-2024-M-0031	Moiz Arshad	38	F	-	3	-	-	-	-	-	88	A	4.0	3	12.0	-	-	-	-	-	70	B	3.0	3	9.0	51	D	1.5	3	4.5	
B.S (IR) Aut-2024-M-0032	Mudassir Hussain	36	F	-	3	-	-	-	-	-	57	C	2.0	3	6.0	-	-	-	-	-	68	C+	2.5	3	7.5	41	F	-	3	-	
B.S (IR) Aut-2024-M-0033	Muhammad Aish	24	F	-	3	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	68	C+	2.5	3	7.5	50	D	1.5	3	4.5	
B.S (IR) Aut-2024-M-0035	Muhammad Haris Abdullah	24	F	-	3	-	-	-	-	-	26	F	-	3	-	63	C	2.0	2	4.0	76	B+	3.5	3	10.5	32	F	-	3	-	
B.S (IR) Aut-2024-M-0036	Muhammad Hassan (Withheld due to Fee)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (International Relations) 3rd Semester, Morning, Session Autumn 2025

		IR-412					PSc 330					URD 351					
		International Relations Since 1945					Political Science					Urdu					
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	
B.S (IR) Aut-2024-M-0002	Ahmed Ali	65	C+	2.5	3	7.5	-	-	-	-	-	57	C	2.0	3	6.0	
B.S (IR) Aut-2024-M-0003	Aiman Khan	81	A	4.0	3	12.0	80	A	4.0	3	12.0	70	B	3.0	3	9.0	
B.S (IR) Aut-2024-M-0004	Aimen Jamal	81	A	4.0	3	12.0	-	-	-	-	-	86	A	4.0	3	12.0	
B.S (IR) Aut-2024-M-0005	Alina Wasit	74	B	3.0	3	9.0	-	-	-	-	-	70	B	3.0	3	9.0	
B.S (IR) Aut-2024-M-0006	Anam Zahid	75	B+	3.5	3	10.5	-	-	-	-	-	66	C+	2.5	3	7.5	
B.S (IR) Aut-2024-M-0008	Aqsa Gulfranz (Withheld due to Fee)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (IR) Aut-2024-M-0009	Areesha Zahoor	66	C+	2.5	3	7.5	-	-	-	-	-	62	C	2.0	3	6.0	
B.S (IR) Aut-2024-M-0010	Arooba Abbasi	61	C	2.0	3	6.0	-	-	-	-	-	70	B	3.0	3	9.0	
B.S (IR) Aut-2024-M-0011	Asma Noor	74	B	3.0	3	9.0	-	-	-	-	-	63	C	2.0	3	6.0	
B.S (IR) Aut-2024-M-0014	Ayesha Riaz	76	B+	3.5	3	10.5	-	-	-	-	-	63	C	2.0	3	6.0	
B.S (IR) Aut-2024-M-0015	Dua Shafqat	75	B+	3.5	3	10.5	-	-	-	-	-	70	B	3.0	3	9.0	
B.S (IR) Aut-2024-M-0016	Eman Tabraiz (Withheld due to Fee)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (IR) Aut-2024-M-0017	Eman Zafar	71	B	3.0	3	9.0	-	-	-	-	-	71	B	3.0	3	9.0	
B.S (IR) Aut-2024-M-0019	Faisal Iqbal	72	B	3.0	3	9.0	-	-	-	-	-	80	A	4.0	3	12.0	
B.S (IR) Aut-2024-M-0020	Faisal Luqman	66	C+	2.5	3	7.5	-	-	-	-	-	58	C	2.0	3	6.0	
B.S (IR) Aut-2024-M-0021	Farooq Khan	81	A	4.0	3	12.0	-	-	-	-	-	80	A	4.0	3	12.0	
B.S (IR) Aut-2024-M-0022	Fiza Mehak	80	A	4.0	3	12.0	-	-	-	-	-	80	A	4.0	3	12.0	
B.S (IR) Aut-2024-M-0023	Hasnain Zahid	81	A	4.0	3	12.0	-	-	-	-	-	81	A	4.0	3	12.0	
B.S (IR) Aut-2024-M-0024	Isma Maqsood	75	B+	3.5	3	10.5	-	-	-	-	-	75	B+	3.5	3	10.5	
B.S (IR) Aut-2024-M-0025	Javeria Ahtasham	76	B+	3.5	3	10.5	-	-	-	-	-	80	A	4.0	3	12.0	
B.S (IR) Aut-2024-M-0026	Mahrukh Zahra	81	A	4.0	3	12.0	-	-	-	-	-	82	A	4.0	3	12.0	
B.S (IR) Aut-2024-M-0028	Malik Shahzaib Hussain	70	B	3.0	3	9.0	-	-	-	-	-	56	C	2.0	3	6.0	
B.S (IR) Aut-2024-M-0029	Mamoona Tasneem	72	B	3.0	3	9.0	-	-	-	-	-	66	C+	2.5	3	7.5	
B.S (IR) Aut-2024-M-0030	Mehrab Saeed (Withheld due to Fee)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (IR) Aut-2024-M-0031	Moiz Arshad	72	B	3.0	3	9.0	-	-	-	-	-	65	C+	2.5	3	7.5	
B.S (IR) Aut-2024-M-0032	Mudassir Hussain	70	B	3.0	3	9.0	75	B+	3.5	3	10.5	53	D	1.5	3	4.5	
B.S (IR) Aut-2024-M-0033	Muhammad Aish	70	B	3.0	3	9.0	-	-	-	-	-	60	C	2.0	3	6.0	
B.S (IR) Aut-2024-M-0035	Muhammad Haris Abdullah	75	B+	3.5	3	10.5	-	-	-	-	-	54	D	1.5	3	4.5	
B.S (IR) Aut-2024-M-0036	Muhammad Hassan (Withheld due to Fee)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (International Relations) 3rd Semester, Morning, Session Autumn 2025

Registration #	Name	ECO 330					GEN-118					GEN124					GEN-124					INR 509					INR 521				
		Economics					Introduction to Psychology					Quantitative Reasoning II (Statistics)					Civics and Community Engagement					Foreign Policy Analysis					Introduction to International Security				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S (IR) Aut-2024-M-0037	Muhammad Naeem	50	D	1.5	3	4.5	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	76	B+	3.5	3	10.5	67	C+	2.5	3	7.5
B.S (IR) Aut-2024-M-0040	Muhammad Usman Ghani	88	A	4.0	3	12.0	-	-	-	-	-	88	A	4.0	3	12.0	-	-	-	-	-	77	B+	3.5	3	10.5	96	A	4.0	3	12.0
B.S (IR) Aut-2024-M-0041	Mumtaz Hussain	55	C	2.0	3	6.0	-	-	-	-	-	32	F	-	3	-	-	-	-	-	72	B	3.0	3	9.0	80	A	4.0	3	12.0	
B.S (IR) Aut-2024-M-0042	Muzammil Hussain	80	A	4.0	3	12.0	-	-	-	-	-	99	A	4.0	3	12.0	-	-	-	-	-	80	A	4.0	3	12.0	94	A	4.0	3	12.0
B.S (IR) Aut-2024-M-0043	Nimra Wajid	30	F	-	3	-	-	-	-	-	58	C	2.0	3	6.0	-	-	-	-	-	70	B	3.0	3	9.0	75	B+	3.5	3	10.5	
B.S (IR) Aut-2024-M-0045	Rokhan Raees	61	C	2.0	3	6.0	-	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-	-	75	B+	3.5	3	10.5	51	D	1.5	3	4.5
B.S (IR) Aut-2024-M-0047	Sara Habib	22	F	-	3	-	-	-	-	-	42	F	-	3	-	-	-	-	-	-	76	B+	3.5	3	10.5	17	F	-	3	-	
B.S (IR) Aut-2024-M-0048	Serish Zulqarnain	50	D	1.5	3	4.5	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	80	A	4.0	3	12.0	70	B	3.0	3	9.0
B.S (IR) Aut-2024-M-0050	Sunaina Arshad	55	C	2.0	3	6.0	-	-	-	-	-	91	A	4.0	3	12.0	-	-	-	-	-	83	A	4.0	3	12.0	80	A	4.0	3	12.0
B.S (IR) Aut-2024-M-0051	Tabish Masih	70	B	3.0	3	9.0	-	-	-	-	-	81	A	4.0	3	12.0	-	-	-	-	-	75	B+	3.5	3	10.5	70	B	3.0	3	9.0
B.S (IR) SP-2024-M-0004	Athar Ahmed	23	F	-	3	-	24	F	-	3	-	60	C	2.0	3	6.0	-	-	-	-	-	60	C	2.0	3	6.0	30	F	-	3	-
B.S (IR) SP-2024-M-0006	Farhan Karim	23	F	-	3	-	36	F	-	3	-	11	F	-	3	-	-	-	-	-	70	B	3.0	3	9.0	80	A	4.0	3	12.0	
B.S (IR) SP-2024-M-0018	Muhammad Hamza	28	F	-	3	-	-	-	-	-	-	36	F	-	3	-	-	-	-	-	80	A	4.0	3	12.0	21	F	-	3	-	
B.S (IR) SP-2024-M-0026	Samya Nisar	28	F	-	3	-	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	67	C+	2.5	3	7.5	30	F	-	3	-
B.S (IR) SP-2024-M-0031	Bisma Irshad	50	D	1.5	3	4.5	-	-	-	-	-	36	F	-	3	-	-	-	-	-	70	B	3.0	3	9.0	50	D	1.5	3	4.5	

CC: 1. Incharge Islamabad Campus, 2. Controller of Exams, Karachi, 3. HOD, 4. Accounts Section, 5. Office File, 6. Notice Board

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD
B.S (International Relations) 3rd Semester, Morning, Session Autumn 2025

		IR-412					PSc 330					URD 351					
		International Relations Since 1945					Political Science					Urdu					
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	
B.S (IR) Aut-2024-M-0037	Muhammad Naeem	75	B+	3.5	3	10.5	-	-	-	-	-	76	B+	3.5	3	10.5	
B.S (IR) Aut-2024-M-0040	Muhammad Usman Ghani	80	A	4.0	3	12.0	-	-	-	-	-	82	A	4.0	3	12.0	
B.S (IR) Aut-2024-M-0041	Mumtaz Hussain	71	B	3.0	3	9.0	-	-	-	-	-	80	A	4.0	3	12.0	
B.S (IR) Aut-2024-M-0042	Muzammil Hussain	81	A	4.0	3	12.0	-	-	-	-	-	84	A	4.0	3	12.0	
B.S (IR) Aut-2024-M-0043	Nimra Wajid	75	B+	3.5	3	10.5	-	-	-	-	-	70	B	3.0	3	9.0	
B.S (IR) Aut-2024-M-0045	Rokhan Raees	75	B+	3.5	3	10.5	-	-	-	-	-	65	C+	2.5	3	7.5	
B.S (IR) Aut-2024-M-0047	Sara Habib	75	B+	3.5	3	10.5	-	-	-	-	-	54	D	1.5	3	4.5	
B.S (IR) Aut-2024-M-0048	Serish Zulqarnain	80	A	4.0	3	12.0	-	-	-	-	-	71	B	3.0	3	9.0	
B.S (IR) Aut-2024-M-0050	Sunaina Arshad	81	A	4.0	3	12.0	-	-	-	-	-	70	B	3.0	3	9.0	
B.S (IR) Aut-2024-M-0051	Tabish Masih	76	B+	3.5	3	10.5	-	-	-	-	-	80	A	4.0	3	12.0	
B.S (IR) SP-2024-M-0004	Athar Ahmed	63	C	2.0	3	6.0	-	-	-	-	-	70	B	3.0	3	9.0	
B.S (IR) SP-2024-M-0006	Farhan Karim	72	B	3.0	3	9.0	-	-	-	-	-	64	C	2.0	3	6.0	
B.S (IR) SP-2024-M-0018	Muhammad Hamza	80	A	4.0	3	12.0	65	C+	2.5	3	7.5	50	D	1.5	3	4.5	
B.S (IR) SP-2024-M-0026	Samya Nisar	71	B	3.0	3	9.0	-	-	-	-	-	61	C	2.0	3	6.0	
B.S (IR) SP-2024-M-0031	Bisma Irshad	73	B	3.0	3	9.0	-	-	-	-	-	58	C	2.0	3	6.0	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026